# ON SOME CLASS OF SUMS 

ANDREI K. SVININ


#### Abstract

We consider some class of the sums which naturally include the sums of powers of integers. We suggest a number of conjectures concerning a representation of these sums.


## 1. Introduction

It is common of knowledge that the sum of powers of integers

$$
\begin{equation*}
S_{m}(n):=\sum_{q=1}^{n} q^{m} \tag{1.1}
\end{equation*}
$$

is a polynomial $\sigma_{m}(n)$ in $n$ of degree $m+1$. This proposition can be showed by using Pascal's elementary proof (see, for example [1]). Polynomials $\sigma_{m}(n)$ for any integer $m \geq 1$ are defined in terms of the Bernoulli numbers:

$$
\sigma_{m}(n)=\frac{1}{m+1} \sum_{q=0}^{m}(-1)^{q}\binom{m+1}{q} B_{q} n^{m-q+1}
$$

The numbers $B_{k}$, in turn, are defined by a recursion

$$
\sum_{q=0}^{k}\binom{k+1}{q} B_{q}=0, \quad B_{0}=1
$$

They were discovered by Bernoulli in 1713 but as follows from [4], they were known by Faulhaber before this time.

Faulhaber's theorem says that for any odd $m \geq 3$, sum (1.1) is expressed as a polynomial of $S_{1}(n)$. It is common of knowledge that $S_{1}(n)=n(n+1) / 2$. Let $t:=n(n+1)$. Then Faulhaber's theorem asserts that for any $k \geq 1, S_{2 k+1}(n)$ can be expressed as a polynomial in $\mathbb{Q}[t]$. These polynomials are referred as Faulhaber's ones. Jacobi showed in [10] that $S_{2 k}(n)$ is expressed as a polynomial in $(2 n+1) \mathbb{Q}[t]$.

There exists a variety of different modifications and generalizations of Faulhaber's theorem in the literature. Faulhaber itself considered $r$-fold sums $S_{m}^{r}(n)$ which are successively defined by

$$
S_{m}^{r}(n)=\sum_{q=1}^{n} S_{m}^{r-1}(q), \quad r \geq 1
$$

beginning from $S_{m}^{0}(n):=n^{m}$. He observed that $S_{m}^{r}(n)$ can be expressed as a polynomial in $t:=n(n+r)$ if $m-r$ is even [11].

In this paper we consider some class of sums $S_{k, j}(n)$ which include classical sums of powers of integers (1.1) with odd $m=2 k+1$. These sums will be introduced in section 2 and 3. Particular case, namely $S_{k, j}(1)$, presents some class of binomial sums studied in [15]. Our crucial idea comes from this work. We briefly formulate the results of this article in section 4. In section 5, we formulate our main conjecture concerning a representation of the sums $S_{k, j}(n)$ in terms of some polynomials whose coefficients rationally depend on $n$. In section 6, we discuss the relationship of this representation with a possible generalization of Faulhaber's theorem. In section 7, we show explicit form of some $n$-dependent coefficients of these polynomials and suppose the relationship of these coefficients to the number of $q$-points in simple symmetric $(2 k+1)$-Venn diagram.

## 2. The Sums $s_{k, j}(n)$

Let us define the numbers $\left\{C_{j, r}(n): j \geq 1, r=0, \ldots, j(n-1)\right\}$ in the following way. Namely, let

$$
\begin{equation*}
\left(\sum_{q=0}^{n-1} a^{q+1}\right)^{j}=\sum_{q=0}^{j(n-1)} C_{j, q}(n) a^{q+j} \tag{2.1}
\end{equation*}
$$

where $a$ is an arbitrary auxiliary nonzero positive number, taking into account that $a^{l} a^{m}=$ $a^{l+m}$. For example, in the case $n=1$, we have only $C_{j, 0}(n)=1$. Clearly, in the case $n=2$, we get

$$
\left(a+a^{2}\right)^{j}=\sum_{q=0}^{j}\binom{j}{q} a^{j+q}
$$

that is, $C_{j, q}(2)$ is a binomial coefficient. From

$$
\begin{aligned}
\left(\sum_{q=0}^{n-1} a^{q+1}\right)^{j}= & \left(\sum_{q=0}^{(j-1)(n-1)} C_{j-1, q}(n) a^{q+j-1}\right)\left(\sum_{q=0}^{n-1} a^{q+1}\right) \\
= & C_{j-1,0}(n) a^{j}+\left(C_{j-1,0}(n)+C_{j-1,1}(n)\right) a^{j+1}+\cdots+\left(C_{j-1,0}(n)+\cdots\right. \\
& \left.+C_{j-1, n-1}(n)\right) a^{j+n-1} \\
& +\left(C_{j-1,1}(n)+\cdots+C_{j-1, n)}(n)\right) a^{j+n}+\cdots+C_{j-1,(j-1)(n-1)}(n) a^{j n}
\end{aligned}
$$

we deduce that

$$
\begin{equation*}
C_{j, r}(n)=\sum_{q=r-n+1}^{r} C_{j-1, q}(n) \tag{2.2}
\end{equation*}
$$

assuming that $C_{j-1, q}(n)=0$ for $q<0$ and $q>(j-1)(n-1)$. In the case $n=2$, relation (2.2) becomes well known property for binomial coefficients:

$$
\binom{j}{r}=\binom{j-1}{r-1}+\binom{j-1}{r} .
$$

Clearly, the coefficient $C_{j, r}(n)$ can be presented as a proper sum of multinomial coefficients. Putting $a=1$ into (2.1), we get the property

$$
\sum_{q=0}^{j(n-1)} C_{j, q}(n)=n^{j}
$$

for these numbers which evidently generalize well-known property of binomial coefficients. Also it is easy to get

$$
\sum_{q=0}^{j(n-1)} q C_{j, q}(n)=\frac{j(n-1)}{2} n^{j}
$$

With the coefficients $C_{j, q}(n)$ we define the sum $s_{k, j}(n)$ as

$$
s_{k, j}(n):=\sum_{q=0}^{j(n-1)} C_{j, q}(n) x_{j+q}
$$

where $x_{r}:=r^{2 k+1}$. Remark that $s_{k, 1}(n)=S_{2 k+1}(n)$. For example, it is evident that

$$
C_{2, q}(n)=\left\{\begin{array}{l}
q+1, \quad q=0, \ldots, n-2 \\
2 n-q-1, \quad q=n-1, \ldots, 2 n-2
\end{array}\right.
$$

Then

$$
\begin{aligned}
s_{k, 2}(n) & :=\sum_{q=0}^{2 n-2} C_{2, q}(n) x_{q+2} \\
& =\sum_{q=0}^{n-2}(q+1) x_{q+2}+\sum_{q=n-1}^{2 n-2}(2 n-q-1) x_{q+2}
\end{aligned}
$$

Shifting $q \rightarrow q-2$, we get

$$
s_{k, 2}(n)=\sum_{q=1}^{n}(q-1) x_{q}+\sum_{q=n+1}^{2 n}(2 n-q+1) x_{q}
$$

Since $q-1=(2 n-q+1)-(2 n-2 q+2)$, then

$$
\begin{equation*}
s_{k, 2}(n)=-\sum_{q=1}^{n}(2 n-2 q+2) x_{q}+\sum_{q=1}^{2 n}(2 n-q+1) x_{q} \tag{2.3}
\end{equation*}
$$

$$
\text { 3. ThE SUMS } S_{k, j}(n) \text { AND } \tilde{S}_{k, j}(n)
$$

Let

$$
\tilde{S}_{k, j}(n):=\sum_{\{\lambda\} \in B_{j, j n}}\left\{\lambda_{1}^{2 k+1}+\left(\lambda_{2}-n\right)^{2 k+1}+\cdots+\left(\lambda_{j}-j n+n\right)^{2 k+1}\right\}
$$

with $B_{j, j n}:=\left\{\lambda_{k}: 1 \leq \lambda_{1} \leq \cdots \leq \lambda_{j} \leq j n\right\}$. Let us define

$$
\begin{equation*}
S_{k, j}(n)=\sum_{q=0}^{j-1}\binom{j(n+1)}{q} s_{k, j-q}(n) \tag{3.1}
\end{equation*}
$$

It is obvious that

$$
\tilde{S}_{k, 1}(n)=S_{k, 1}(n)=s_{k, 1}(n)=S_{2 k+1}(n)
$$

## Conjecture 3.1.

$$
\begin{equation*}
\tilde{S}_{k, j}(n)=S_{k, j}(n) . \tag{3.2}
\end{equation*}
$$

Using simple arguments we deduce that in the case $j=2$

$$
\begin{align*}
\tilde{S}_{k, 2}(n) & =\sum_{\{\lambda\} \in B_{2,2 n}}\left\{\lambda_{1}^{2 k+1}+\left(\lambda_{2}-n\right)^{2 k+1}\right\} \\
& =\sum_{q=1}^{2 n}(2 n-q+1) x_{q}+\sum_{q=1}^{2 n}(2 n-q+1) x_{n-q+1} \tag{3.3}
\end{align*}
$$

Notice that we have several $x_{r}$ 's with negative subscript $r$ in (3.3). Clearly, we must put $x_{r}=-x_{-r}$. Taking into account this rule, we rewrite the second sum in (3.3) as

$$
\sum_{q=1}^{n}(n+q) x_{q}-\sum_{q=1}^{n}(n-q) x_{q}=2 \sum_{q=1}^{n} q x_{q}
$$

Adding to (3.3)

$$
-\sum_{q=1}^{n}(2 n-2 q+2) x_{q}+\sum_{q=1}^{n}(2 n-2 q+2) x_{q}
$$

and taking into account (2.3), we finally get

$$
\begin{aligned}
\tilde{S}_{k, 2}(n) & =s_{k, 2}(n)+(2 n+2) \sum_{q=1}^{n} x_{q} \\
& =s_{k, 2}(n)+\binom{2(n+1)}{1} s_{k, 1}(n) \\
& =S_{k, 2}(n)
\end{aligned}
$$

## 4. Special case of the sums (3.1)

In the case $n=1$, the sum (3.1) becomes

$$
\begin{equation*}
S_{k, j}(1)=\sum_{q=0}^{j-1}\binom{2 j}{q}(j-q)^{2 k+1} \tag{4.1}
\end{equation*}
$$

This type of the sums was studied in [2], [14], [15]. More exactly, the authors of these works considered binomial sums of the form

$$
\mathcal{S}_{m}(j)=\sum_{q=0}^{2 j}\binom{2 j}{q}|j-q|^{m}
$$

It is evident that $S_{k, j}(1)=\mathcal{S}_{2 k+1}(j) / 2$.
Some bibliographical remarks are as follows. Bruckman in [2] asked to prove that $\mathcal{S}_{3}(j)=j^{2}\binom{2 j}{j}$. Strazdins in [14] solved this problem and conjectured that $\mathcal{S}_{2 k+1}(j)=$ $\left.\tilde{P}_{k}(x)\right|_{x=j}\binom{2 j}{j}$ with some monic polynomial $\tilde{P}_{k}(x)$ for any $k \geq 0$. Tuenter showed in [15]
that it is almost true. More exactly, he proved that there exists a sequence of polynomials $P_{k}(x)$ sush that

$$
\delta_{2 k+1}(j)=\left.P_{k}(x)\right|_{x=j} j\binom{2 j}{j}=\left.P_{k}(x)\right|_{x=j} \frac{(2 j)!}{(j-1)!j!}
$$

One can see that polynomial $\tilde{P}_{k}(x)$ is monic only for $k=0,1$. Next, we will describe these polynomials. The following proposition [15] is verified by direct computations.

Proposition 4.1. The sums $S_{k, j}(1)$ enjoy recurrence relation

$$
\begin{equation*}
S_{k, j}(1)=j^{2} S_{k-1, j}(1)-2 j(2 j-1) S_{k-1, j-1}(1) . \tag{4.2}
\end{equation*}
$$

Remark 4.2. It was in fact proved for the sums $\mathcal{S}_{2 k+1}(j)$ in [15].
In what follows we introduce the sequence of positive integer numbers:

$$
g_{1}=1, \quad g_{j}=\frac{j}{(j-1)!} \prod_{q=1}^{j-1}(j+q), \quad j \geq 2 .
$$

It should be noted that the sequence $\left\{g_{j}: j \geq 1\right\}$ satisfy the recurrent relation

$$
\begin{equation*}
g_{j+1}=2 \frac{2 j+1}{j} g_{j} . \tag{4.3}
\end{equation*}
$$

The numbers $g_{j}$ are given in the following table:

| $j$ | 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 | 9 |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| $g_{j}$ | 1 | 6 | 30 | 140 | 630 | 2772 | 12012 | 51480 | 218790 |

They constitute A002457 integer sequence in [13].
Let us write

$$
S_{k, j}(1)=P_{k, j} g_{j}
$$

with some numbers $P_{k, j}$ to be calculated. Taking into account (4.3), it can be easily seen that (4.2) is valid if the relation

$$
\begin{equation*}
P_{k+1, j}=j^{2}\left(P_{k, j}-P_{k, j-1}\right)+j P_{k, j-1} \tag{4.4}
\end{equation*}
$$

does.
Now we need in polynomials studied in [15] which are defined by a recurrent relation

$$
\begin{equation*}
P_{k+1}(x)=x^{2}\left(P_{k}(x)-P_{k}(x-1)\right)+x P_{k}(x-1) \tag{4.5}
\end{equation*}
$$

with initial condition $P_{0}(x)=1$. The first eight polynomials yielded by (4.5) are as follows.

$$
\begin{gathered}
P_{0}(x)=1 P_{1}(x)=x, \quad P_{2}(x)=x(2 x-1), \\
P_{3}(x)=x\left(6 x^{2}-8 x+3\right), \\
P_{4}(x)=x\left(24 x^{3}-60 x^{2}+54 x-17\right), \\
P_{5}(x)=x\left(120 x^{4}-480 x^{3}+762 x^{2}-556 x+155\right), \\
P_{6}(x)=x\left(720 x^{5}-4200 x^{4}+10248 x^{3}-12840 x^{2}+8146 x-2073\right) . \\
P_{7}(x)=x\left(5040 x^{6}-40320 x^{5}+139440 x^{4}-263040 x^{3}\right. \\
\left.+282078 x^{2}-161424 x+38227\right) .
\end{gathered}
$$

Introducing a recursion operator $R:=x^{2}\left(1-\Lambda^{-1}\right)+x \Lambda^{-1}$, where $\Lambda$ is a shift operator acting as $\Lambda(f(x))=f(x+1)$, one can write $P_{k}(x)=R^{k}(1)$. One could notice that the polynomial $P_{k}(x)$ has $k$ ! as a coefficient at $x^{k}$. In addition, as was noticed in [15], the constant terms of the polynomials $P_{k}(x) / x$ constitute a sequence of the Genocchi numbers with opposite sign, that is,

$$
-G_{2}=1, \quad-G_{4}=-1, \quad-G_{6}=3, \quad-G_{8}=-17, \quad-G_{10}=155, \quad-G_{12}=-2073, \ldots
$$

Recall that the Genocchi numbers are defined with the help of generating function

$$
\frac{2 x}{e^{x}+1}=\sum_{q \geq 1} G_{q} \frac{x^{q}}{q!}
$$

and are related to the Bernoulli numbers as $G_{2 k}=2\left(1-2^{2 k}\right) B_{2 k}$.
Comparing (4.5) with (4.4) we conclude that $P_{k, j}=\left.P_{k}(x)\right|_{x=j}$.
Remark 4.3. As was noticed in [15], polynomials $P_{k}(x)$ can be obtained as a special case of Dumont-Foata polynomials of three variables [3].

## 5. General case

Let $t:=n(n+1)$. Our main conjecture is as follows.
Conjecture 5.1. There exists some polynomials $P_{k}(t, x)$ in $x$ of degree $k$ whose coefficients rationally depend on $t$ such that

$$
S_{k, j}(n)=\frac{t^{k+1}}{2^{k+1}} P_{k}(j) g_{j}(n)
$$

where

$$
g_{1}(n)=1, \quad g_{j}(n):=\frac{j}{(j-1)!} \prod_{q=1}^{j-1}(j n+q)
$$

The first eight polynomials $P_{k}(t, x)$ are

$$
\begin{gathered}
P_{0}(t, x)=1, \quad P_{1}(t, x)=x, P_{2}(t, x)=x\left(2 x-\frac{2(t+1)}{3 t}\right) \\
P_{3}(t, x)=x\left(6 x^{2}-\frac{16(t+1)}{3 t} x+\frac{4(t+1)^{2}}{3 t^{2}}\right) \\
P_{4}(t, x)=x\left(24 x^{3}-\frac{40(t+1)}{t} x^{2}+\frac{24(t+1)^{2}}{t^{2}} x-\frac{24(t+1)^{3}+8 t^{2}}{5 t^{3}}\right), \\
P_{5}(t, x)=x\left(120 x^{4}-\frac{320(t+1)}{t} x^{3}+\frac{1016(t+1)^{2}}{3 t^{2}} x^{2}\right. \\
\left.-\frac{160(t+1)^{3}+32 t^{2}}{t^{3}} x+\frac{80\left((t+1)^{4}+t^{2}(t+1)\right)}{3 t^{4}}\right),
\end{gathered}
$$

$$
\begin{aligned}
P_{6}(t, x)= & x\left(720 x^{5}-\frac{2800(t+1)}{t} x^{4}+\frac{13664(t+1)^{2}}{3 t^{2}} x^{3}\right. \\
- & -\frac{55936(t+1)^{3}+7632 t^{2}}{15 t^{3}} x^{2}+\frac{22112(t+1)^{4}+13664 t^{2}(t+1)}{15 t^{4}} x \\
& \left.-\frac{22112(t+1)^{5}+44224 t^{2}(t+1)^{2}}{105 t^{5}}\right), \\
P_{7}(t, x) & =x\left(5040 x^{6}-\frac{26880(t+1)}{t} x^{5}+\frac{185920(t+1)^{2}}{3 t^{2}} x^{4}\right. \\
& -\frac{76800(t+1)^{3}+7680 t^{2}}{t^{3}} x^{3} \\
& +\frac{157088(t+1)^{4}+67968 t^{2}(t+1)}{3 t^{4}} x^{2} \\
& -\frac{17920(t+1)^{5}+22528 t^{2}(t+1)^{2}}{t^{5}} x \\
& \left.+\frac{6720(t+1)^{6}+22400 t^{2}(t+1)^{3}+1344 t^{4}}{3 t^{6}}\right) .
\end{aligned}
$$

Unfortunately, in general case we do not know a recursion relation for these polynomials except for the case $t=2$. One can check that $\left.P_{k}(t, x)\right|_{t=2}=P_{k}(x)$, where $P_{k}(x)$ are Tuenter's polynomials introduced above.

It could be noticed that coefficients of the polynomials $P_{k}(t, x)$ have a special form. Namely, let

$$
\begin{equation*}
P_{k}(t, x)=x\left(p_{k, 0}(t) x^{k-1}-p_{k, 1}(t) x^{k-2}+\cdots+(-1)^{k-1} p_{k, k-1}(t)\right) . \tag{5.1}
\end{equation*}
$$

Based on actual calculations, it can be supposed the following.
Conjecture 5.2. The coefficients of $t$-dependent polynomial (5.1) are given by

$$
p_{k, j}(t)=\frac{r_{k, j}(t)}{t^{j}}
$$

where the polynomials $r_{k, j}(t)$ are of the form

$$
r_{k, j}(t)=\sum_{q=0}^{m} \alpha_{k, j, q} t^{2 q}(t+1)^{j-3 q}
$$

with rational positive nonzero numbers $\alpha_{k, j, q}$. Here $m \geq 0$, by definition, is the result of division of the number $j$ by 3 with some remainder $l$, that is, $j=3 m+l$.

It should be noticed that the last conjecture is quite strong. With this conjecture the number $N_{k}$ of parameters which entirely define polynomial $P_{k}(t, x)$ is presented in the following table:

| $k$ | 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 | 9 |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| $N_{k}$ | 1 | 2 | 3 | 5 | 7 | 9 | 12 | 15 | 18 |

It is the A001840 integer sequence in [13]. We have in fact verified conjecture 5.2 up to $k=11$ and calculated all corresponding coefficients $\alpha_{k, j, q}$.

It is evident that for all polynomials $P_{k}(t, x)$ we have $p_{k, 0}(t)=k$ !. Actual calculations show that

$$
\begin{gathered}
\alpha_{k, 1,0}=\frac{(k-1)(k+1)}{9} k!, \quad k \geq 2, \\
\alpha_{k, 2,0}=\frac{(k-2)(k+1)\left(5 k^{2}+k-3\right)}{810} k!, \quad k \geq 3 \\
\alpha_{k, 3,0}=\frac{(k-3)(k+1)\left(175 k^{4}-70 k^{3}-724 k^{2}+643 k-690\right)}{765450} k!, \quad k \geq 4 \\
\alpha_{k, 3,1}=\frac{(k-3)(k+1)\left(2 k^{2}-4 k+5\right)}{1575} k!, \quad k \geq 4, \ldots
\end{gathered}
$$

Looking at these patterns it can be supposed that

$$
\alpha_{k, j, 0}=(k-j)(k+1) p_{j}(k) k!, \quad k \geq j+1
$$

with some polynomial $p_{j}(k)$ of degree $2 j-2$.

## 6. FAULHABER'S THEOREM

With the polynomials $P_{k}(t, x)$ we are able, for example, to calculate

$$
\begin{aligned}
& S_{0, j}(n)= \frac{t}{2} \frac{j}{(j-1)!} \prod_{q=1}^{j-1}(j n+q), \quad S_{1, j}(n)=\frac{t^{2}}{4} \frac{j^{2}}{(j-1)!} \prod_{q=1}^{j-1}(j n+q) \\
& S_{2, j}(n)=\frac{t^{2}}{12}\{(3 j-1) t-1\} \frac{j^{2}}{(j-1)!} \prod_{q=1}^{j-1}(j n+q) \\
& S_{3, j}(n)= \frac{t^{2}}{24}\left\{\left(9 j^{2}-8 j+2\right) t^{2}-(8 j-4) t+2\right\} \frac{j^{2}}{(j-1)!} \prod_{q=1}^{j-1}(j n+q), \\
& S_{4, j}(n)= \frac{t^{2}}{20}\left\{\left(15 j^{3}-25 j^{2}+15 j-3\right) t^{3}-\left(25 j^{2}-30 j+10\right) t^{2}\right. \\
&+(15 j-9) t-3\} \frac{j^{2}}{(j-1)!} \prod_{q=1}^{j-1}(j n+q) \\
& S_{5, j}(n)= \frac{t^{2}}{24}\left\{\left(45 j^{4}-120 j^{3}+127 j^{2}-60 j+10\right) t^{4}\right. \\
&-\left(120 j^{3}-254 j^{2}+192 j-50\right) t^{3}+\left(127 j^{2}-180 j+70\right) t^{2} \\
&-(60 j-40) t+10\} \frac{j^{2}}{(j-1)!} \prod_{q=1}^{j-1}(j n+q),
\end{aligned}
$$

$$
\begin{aligned}
S_{6, j}(n)= & \frac{t^{2}}{840}\left\{\left(4725 j^{5}-18375 j^{4}+29890 j^{3}-24472 j^{2}+9674 j-1382\right) t^{5}\right. \\
& -\left(18375 j^{4}-59780 j^{3}+76755 j^{2}-44674 j+9674\right) t^{4} \\
& +\left(29890 j^{3}-73416 j^{2}+64022 j-19348\right) t^{3}-\left(24472 j^{2}+38696 j-16584\right) t^{2} \\
& +(9674 j-6910) t-1382\} \frac{j^{2}}{(j-1)!} \prod_{q=1}^{j-1}(j n+q)
\end{aligned}
$$

$$
\begin{aligned}
S_{7, j}(n)= & \frac{t^{2}}{48}\left\{\left(945 j^{6}-5040 j^{5}+11620 j^{4}-14400 j^{3}+9818 j^{2}-3360 j+420\right) t^{6}\right. \\
& -\left(5040 j^{5}-23240 j^{4}+44640 j^{3}-43520 j^{2}+21024 j-3920\right) t^{5} \\
& +\left(11620 j^{4}-43200 j^{3}+63156 j^{2}-42048 j+10584\right) t^{4} \\
& -\left(14400 j^{3}-39272 j^{2}+37824 j-12600\right) t^{3} \\
& +\left(9818 j^{2}-16800 j+7700\right) t^{2} \\
& -(3360 j-2520) t+420\} \frac{j^{2}}{(j-1)!} \prod_{q=1}^{j-1}(j n+q)
\end{aligned}
$$

Looking at these patterns we could suggest the following.
Conjecture 6.1. $S_{k, j}(n)$ is expressed as a polynomial in $\prod_{q=1}^{j-1}(j n+q) \mathbb{Q}[t]$.

For $j=1$, conjecture 6.1 becomes well known Faulhaber's theorem 6] which was, in fact, proved by Jacobi in [10]. The first eight Faulhaber's polynomials are as follows:

$$
\begin{gathered}
S_{0,1}(n)=\frac{t}{2}, \quad S_{1,1}(n)=\frac{t^{2}}{4}, \quad S_{2,1}(n)=\frac{t^{2}}{12}(2 t-1), \quad S_{3,1}(n)=\frac{t^{2}}{24}\left(3 t^{2}-4 t+2\right) \\
S_{4,1}(n)=\frac{t^{2}}{20}\left(2 t^{3}-5 t^{2}+6 t-3\right), \quad S_{5,1}(n)=\frac{t^{2}}{24}\left(2 t^{4}-8 t^{3}+17 t^{2}-20 t+10\right) \\
S_{6,1}(n)=\frac{t^{2}}{840}\left(60 t^{5}-350 t^{4}+1148 t^{3}-46584 t^{2}+2764 t-1382\right) \\
S_{7,1}(n)=\frac{t^{2}}{48} t^{2}\left(3 t^{6}-24 t^{5}+112 t^{4}-352 t^{3}+718 t^{2}-840 t+420\right)
\end{gathered}
$$

In general, one usually write

$$
S_{k, 1}(n)=\frac{1}{2(k+1)} \sum_{q=0}^{k} A_{q}^{(k+1)} t^{k-q+1}
$$

where $A_{0}^{(k)}=1$ and $A_{k-1}^{(k)}=0$. One knows quite a lot about the coefficients $A_{q}^{(k)}$. Jacobi proved that the coefficients $A_{q}^{(k)}$ enjoy the recurrence relation

$$
(2 k+2)(2 k+1) A_{q}^{(k)}=2(k-q+1)(2 k-2 q+1) A_{q}^{(k+1)}+(k-q+1)(k-q+2) A_{q-1}^{(k+1)}
$$

and tabulated some of them. It was shown by Knuth in [11] that these coefficients satisfy quite simple implicit recurrence relation

$$
\begin{equation*}
\sum_{q=0}^{r}\binom{k-q}{2 r+1-2 q} A_{q}^{(k)}=0, \quad r>0 \tag{6.1}
\end{equation*}
$$

which yields an infinite triangle system of equations from which one easily obtains

$$
\begin{gathered}
A_{1}^{(k)}=-\frac{(k-2) k}{6}, A_{2}^{(k)}=\frac{(k-3)(k-1) k(7 k-8)}{360} \\
A_{3}^{(k)}=-\frac{(k-4)(k-2)(k-1) k\left(31 k^{2}-89 k+48\right)}{15120} \\
A_{4}^{(k)}=\frac{(k-5)(k-3)(k-2)(k-1) k\left(127 k^{3}-691 k^{2}+1038 k-384\right)}{604800}, \ldots
\end{gathered}
$$

Gessel and Viennot showed in [9] that a solution of system (6.1) can be presented as a $k \times k$ determinant

$$
A_{q}^{(k)}=\frac{1}{(1-k) \cdots(q-k)}\left|\begin{array}{ccccc}
\binom{k-q+1}{3} & \binom{k-q+1}{1} & 0 & \cdots & 0 \\
\binom{k-q+2}{5} & \binom{k-q+2}{3} & \binom{k-q+2}{1} & \cdots & 0 \\
\vdots & \vdots & \vdots & & \vdots \\
\binom{k-1}{2 k-1} & \binom{k-1}{2 k-3} & \binom{k-1}{2 k-5} & \cdots & \binom{k-1}{k} \\
\binom{k-1}{2 k+1} & \binom{k-1}{2 k-1} & \binom{k-1}{2 k-3} & \cdots & \binom{k}{3}
\end{array}\right|
$$

(see also [5]). A bivariate generating function for the coefficients $A_{q}^{(k)}$ was obtained in [8].
7. The conjectural Relationship of The coefficients $p_{k, k-1}(t)$ TO SIMPLE Symmetric Venn diagrams

Let us rewrite the coefficients $p_{k, k-1}(t)$ being expressed via $n$, that is,

$$
p_{k, k-1}(n)=\left.p_{k, k-1}(t)\right|_{t=n(n+1)}
$$

For example,

$$
\begin{gathered}
p_{1,0}(n)=1, \quad p_{2,1}(n)=-\frac{2}{3} \frac{n^{2}+n+1}{n(n+1)}, p_{3,2}(n)=\frac{4}{3} \frac{n^{4}+2 n^{3}+3 n^{2}+2 n+1}{n^{2}(n+1)^{2}}, \\
p_{4,3}(n)=-\frac{24}{5} \frac{n^{6}+3 n^{5}+\frac{19}{3} n^{4}+\frac{23}{3} n^{3}+\frac{19}{3} n^{2}+3 n+1}{n^{3}(n+1)^{3}}, \\
p_{5,4}(n)=\frac{80}{3} \frac{n^{8}+4 n^{7}+11 n^{6}+19 n^{5}+23 n^{4}+19 n^{3}+11 n^{2}+4 n+1}{n^{4}(n+1)^{4}}, \\
p_{6,5}(n)=-\frac{22112}{105} \frac{n^{10}+5 n^{9}+17 n^{8}+38 n^{7}+61 n^{6}+71 n^{5}+61 n^{4}+38 n^{3}+17 n^{2}+5 n+1}{n^{5}(n+1)^{5}}, \ldots
\end{gathered}
$$

Looking at these patterns we see that

$$
\begin{equation*}
p_{k, k-1}(n)=c_{k} \frac{v_{k}(n)}{n^{k-1}(n+1)^{k-1}} \tag{7.1}
\end{equation*}
$$

where $v_{k}(n)$ is a monic polynomial of degree $2 k-2$. All these polynomials are invariant with respect to transformation

$$
\begin{equation*}
v_{k}(n) \mapsto n^{2 k-2} v_{k}\left(\frac{1}{n}\right) . \tag{7.2}
\end{equation*}
$$

Also it worth to remark that the polynomial $v_{4}(n)$ unlike the others, has several fractional coefficients.

Conjecture 7.1. Polynomials $v_{k}(n)$ are given by

$$
\begin{equation*}
v_{k}(n)=\sum_{q=1}^{2 k-1} \frac{\binom{2 k}{q}+(-1)^{q+1}}{2 k+1} n^{2 k-q-1}, \tag{7.3}
\end{equation*}
$$

while the coefficients $c_{k}$ are expressed via Bernoulli numbers as

$$
\begin{equation*}
c_{k}=(2 k+1) 2^{k} B_{2 k} \tag{7.4}
\end{equation*}
$$

Let us notice that if (7.3) is valid then the invariance of corresponding polynomial with respect to (7.4) is obvious in virtue of the invariance of binomial coefficients.

Let $p=2 k+1$. It is known that if $p$ is simple then

$$
T(p, q)=\frac{\binom{p-1}{q}+(-1)^{q+1}}{p}, p \geq 5
$$

is the number of $q$-points on the left side of a crosscut of simple symmetric $p$-Venn diagram [12]. This integer sequence is known as A219539 sequence in [13]. It is evident that the row sum

$$
t_{p}:=\sum_{q=1}^{p-2} T(p, q)=\frac{2^{p-1}-1}{p}
$$

can be calculated as $\left.v_{k}(n)\right|_{n=1}$. The Fermat quotients $\left(2^{p-1}-1\right) / p$ for simple $p$ constitute integer sequence A007663 in [13]. Taking into account (7.1) and (7.4), we get

$$
\left.p_{k, k-1}(n)\right|_{n=1}=2\left(2^{2 k}-1\right) B_{2 k}=-G_{2 k}
$$

## 8. Discussion

In the paper we have considered some class of sums $S_{k, j}(n)$ and conjectured a representation of these sums in terms of a sequence of the polynomials $\left\{P_{k}(t, x): k \geq 0\right\}$. This assumption is resulted from computational experiments and supported by a large amount of actual calculations. For $n=1$, we get the well-known results from [15]. This also confirms our assumptions. The conjectural relationship of several coefficients of polynomials $P_{k}(t, x)$ being expressed via $n$ to simple symmetric Venn diagrams is quite unexpected and requires explanation.

## Acknowledgments

This work was supported in part by the Council for Grants of the President of Russian Foundation for state support of the leading scientific schools, project NSh-8081.2016.9.

## References

[1] A. F. Breadon, Sums of powers of integers, Amer. Math. Monthly, 103 (1996), 201-213.
[2] P. S. Bruckman, Problem B-871, Fibonacci Quartely, 37 (1999), 85.
[3] D. Dumont, D. Foata, Une propriété de symétrie des nombres de Genocci, Bulletin de la Société Mathématique de France, 104 (1976), 433-451.
[4] A. W. F. Edwards, Sums of powers of integers: a little of the history, Math. Gazette, 66 (1982), 22-29.
[5] A. W. F. Edwards, A quick route to sums of powers, Amer. Math. Monthly, 93 (1986), 451-455.
[6] J. Faulhaber J., AlgebræA. Darinnen die miraculosische inventiones zu den höchsten cossen weiters continuirt und profitiert werden, Augsburg, bey Johann Ulrich Schönigs, 1631.
[7] R. L. Graham, D. E. Knuth, O. Patashnik, Concrete Mathematics (1989), Massachusetts: AddisonWesley.
[8] I. Gessel, A formula for power sums, Amer. Math. Monthly, 95 (1988), 961-962.
[9] I. Gessel, G. Viennot, Determinants, paths, and plane partitions, Preprint, 1989.
[10] C. G. Jacobi, De usu legitimoformulae summatoriae Maclaurinaianae, J. Reine Angew. Math., 12 (1834), 263-272.
[11] D. E. Knuth, Johann Faulhaber and sums of powers, Math. of Comp., 61 (1993), 277-294.
[12] K. Mamakani, F. Ruskey, New roses: simple symmetric Venn diagrams with 11 and 13 curves, Disc. Comp. Geom., 52 (2014), 71-87.
[13] N. J. A. Sloane. The On-Line Encyclopedia of Integer Sequences, http://oeis.org
[14] I. Strazdins, Solution to problem B-871, Fibonacci Quartely, 38.1 (2000), 86-87.
[15] H. J. H. Tuenter, Walking into an absolute sum, Fibonacci Quartely, 40 (2002), 175-180.

Andrei K. Svinin, Matrosov Institute for System Dynamics and Control Theory of Siberian Branch of Russian Academy of Sciences, P.O. Box 292, 664033 Irkutsk, Russia

E-mail address: svinin@icc.ru

